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SURVEYING -1

frutha wqa - dR R [AftrRam 3 : 70

Time allowed : Three Hours| [Maximum Marks : 70

AT () Ny AR 8 Wy 7 8 e v & I e

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) Fe9® F F G 47T F} FHIR O GrE 5 Fiod |
Solve all parts of a question consecutively together.
(iii) ¥ o B 73 78 & IR Ffd |
Start each question on fresh page.

(iv) St uraran 7 s g7 #1 RS 7 3t srgarg = 8 1

Only English version is valid in case of difference in both the lunguages.

() S gdgwdgafa e d sa s o E 2
What do you understand by well conditioned triangle in chain surveying ?
(i) Frahra fespama =t gfoaiya Hiw |
Define magnetic declination.
(iii) aotew § I3 H FAg F A |
Explain the “height of instrument” in levelling.
(iv) 3t wE gl e s e i |
Differentiate between line of sight and axis of telescope.
(v) 9 g9 § JHded T guse |
Explain resection in plane table surveying. (2x5)

(10f4) P.T.O.
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() fafr stafrafin st 4 wdaor & 399 ) faar @ aasrd )
Explain in detail the uses of surveying in various engineering works.
(i) e a6 vara 8 wereia it i srRifaft o e |

Explain the working method of optical square with the help of neat sketch.  (6+6)

() o Rgae i wema @ gremaw # fim fegm ford m

The following bearings were taken while traversing with a compass :

@ | owm e I fegm

(Line) | (Fore bearing) | (Back bearing)

AB 45° 45' 226° 10"
BC 96° 55' 277° 5'
CD |  29°45' 209° 10"
DE 324° 48' 144° 48’

FATA HH-HH A RIA W v @ waifad & wd v fepme sma Hifkd |

Mention which stations were affected by local attraction and determine the
corrected bearing.

(i) Trehrg Regas ¥ Rigra # argrs |

Explain the principle of magnetic compass. (8+4)
U Slad TS TS 61 ggrar € fPrafdfaa weas switeea 8@ ol | daw | d, 53
TS T34 WIS & §1g TIFT=NG fodT T4 :

2.220, 1.592, 0.986, 2.088, 2.854, 1.253, 0.593, 1.825, 1.042, 2.594

T qOE 85 Ikt 1 98 S5 Td ST aft rediss 3 g IR | afe e v
WA 1 GG a6 432,29 m B, @ @t forgatt & waria ae S Sa iy’ g
Fra Hfw |

The following readings were taken successively with the-help of a level and staff, the
instrument have been moved after third, sixth and eighth readings :
2.220, 1.592, 0.986, 2.088, 2.854, 1.253, 0.593, 1.825, 1.042,2.594
Rule out a page of level field book and enter the above readings. If the R-L of the first
staff station is 432.29 m, determine the R.L. of all points with the help of “height of

instrument” method. _ 12)
v t@nat <t it e = quis HikR |
Describe the various characteristics of contours. (12)

(i) oo gag ginar & fafm = = aqsnsd |
Explain the various steps of plane table surveying.
(i) = g & fafirm ey forfRad o

Write down the various advantages of plane tabling. (8+4)
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7. () wE o & vy % Ere w0 < fafty B amed |

Explain the method of determining the slope of ground with the help of a abney
level.

(i) Ta-frg v ) 7o %0 ) Rl 6t wred |
Explain the method of solving “two point problem”. (4+8)

8. Prifiea o fw fof fafed -

Write short notes on the following :

(i) STEE aaego
Profile levelling
(i) Y=wrs
Pantagraph
(iii) Y= Y@l 1 AT
Interpolation of contours 4x3)
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